

$$\begin{array}{c} b = 4 \quad \left(\frac{b}{2}\right)^{2} = \left(\frac{4}{2}\right)^{2} = \left(\frac{2}{2}\right)^{2} = 4 \\ (\frac{b}{2})^{2} = \left(\frac{4}{2}\right)^{2} = \left(\frac{2}{2}\right)^{2} = 4 \\ (\frac{b}{2})^{2} = \left(\frac{2}{2}\right)^{2} = \left(\frac{2}{2}\right)^{2} = 4 \\ (\frac{b}{2})^{2} = \left(\frac{b}{2}\right)^{2} = \left(\frac{b}{2}\right)^{2} = \left(\frac{b}{2}\right)^{2} = 4 \\ (\frac{b}{2})^{2} = \left(\frac{b}{2}\right)^{2} = \left(\frac{b}{2}\right)^{2} = \left(\frac{b}{2}\right)^{2} = \frac{b}{2} \\ (\frac{b}{2})^{2} = \left(\frac{b}{2}\right)^{2} = \left(\frac{b}{2}\right)^{2} = \left(\frac{b}{2}\right)^{2} \\ (\frac{b}{2})^{2} = \left(\frac{b}{2}\right)^{2} = \left(\frac{b}{2}\right)^{2} = \left(\frac{b}{2}\right)^{2} \\ (\frac{b}{2})^{2} = \left(\frac{b}{2}\right)^{2} = \left(\frac{b}{2}\right)^{2} \\ (\frac{b}{2})^{2} = \left(\frac{b}{2}\right)^{2} = \left(\frac{b}{2}\right)^{2} \\ (\frac{b}{2})^{2} = \left(\frac$$